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Multiples and factors
Circle the right answer(s)

60 x 3 =180

180 is a multiple of 60

60 is a multiple of 180

180 is a multiple of 3

26 x 7 =182

182 is a multiple of 26

7 is a multiple of 26

26 is a multiple of 182

36 x5 =180

180 is a multiple of 5

5 is a multiple of 36

5 is a multiple of 180

53 x 3 = 159

159 is a multiple of 53

159 is a multiple of 3

3 is a multiple of 159

75x2 =150

2 is a multiple of 150

150 is a multiple of 75

2 is a multiple of 75

46 x4 = 184

184 is a multiple of 46

46 is a multiple of 4

184 is a multiple of 4



